2D Shapes - Answers
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Key Stage 2: 2006 Paper A
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Key Stage 2: 2006 Paper B
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Key Stage 2: 2007 Paper B
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Key Stage 2: 2008 Paper B
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Key Stage 2: 2009 Paper A
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Key Stage 2: 2009 Paper B
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Key Stage 2: 2010 Paper A
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Key Stage 2: 2011 Paper A
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Key Stage 2: 2011 Paper A L6
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Key Stage 2: 2011 Paper A
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Key Stage 2: 2012 Paper A L6
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Key Stage 2: 2014 Paper A
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Key Stage 2: 2014 Paper B
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Key Stage 2: 2015 Paper A
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Key Stage 2: 2016 Paper 2 Reasoning - Sample
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Key Stage 2: 2016 Paper 3 Reasoning
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Key Stage 2: 2017 Paper 3 Reasoning
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Key Stage 2: 2017 Paper 3 Reasoning
1.
[image: ]


Key Stage 2: 2018 Paper 3 Reasoning
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Key Stage 2: 2019 Paper 2 Reasoning
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Test A question 21

Markers will use a transgarent ovelay of this page to mark pupis’ answers 1 tis question.
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7a

7b

First column of table completed
correctly.

Second column of table completed
correctly

Accept altemative unambiguous
indications such as ¥ and N.
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17 AAND C m Answers may be given in either order.
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25

‘An explanation (or diagram) which

recognises that the sum of two obtuse

angles would be greater than 180

degrees, eg:

= “An obtuse angle is greater than
90 degrees and the angles of a
triangle add up to 180 degrees”

= “Two obtuse angles add up to more
than 180°

= "180 degrees is less than two obtuse
angles”

u ‘It must have at least two acute
angles'

= “The shape would need more than
3 sides to join up’

N/

1m

Do not accept answers that refer only.

to the properties of obtuse angles OR

to the angles of a triangle, eg.

= ‘The angles of a triangle add up to
180 degrees’

= ‘Obtuse angles are greater than 90
degrees”.

Do not accept vague o incomplete

explanations, eg:

= ‘A triangle cannot have two obtuse
angles”

= ‘Obtuse angles would be too big’

= “You can only have acute angles’.
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Answer in the range 5.4cm to 5.6cm m Accept 53 cm.
inclusive.
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10

Award TWO marks for all three letters.
in the correct order as shown:

F
E
B

If the answer is incorrect, award ONE
mark for two of the three letters
correct.

Upto
2m
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14 BANDC m Answers may be given in either order.
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An explanation which recognises that
2 quadilateral must have particular
properties to be a square, eg:

= ‘It can only be a square if all the.
angles are right angles’

= ‘It can only be a square if all the.
sides are equal’

OR

an explanation (or diagram) which
recognises that there are quadrilaterals
other than squares, eg:

‘It could be a rectangle’
n *Arhombus has four sides’

= It could be a kite o a trapezium
or a parallelogram’

= It could be an oblong’
= “The sides could be unequal’
= “The angles might be different’

©s

No mark is awarded for circling ‘No*
alone.

Do not accept vague or incomplete

‘explanations, eg:

=t might not be a square’

= “Not all four-sided shapes are
squares’

= ‘A foursided shape is a quadilateral’

't could be a diamond.

If *Yes' s circled but a correct,

unambiguous explanation is given, then
award the mark.
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12 DAND E m Letters may be written in either order

@ Accept A AND A.
Accept CAND C.
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One shape crossed as shown:

m

Do not award the mark if aditional
incorrect shapes are indicated.
Accept alternative unambiguous
indications of the correct shape, eg
shape ticked or circled.
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21a

21b

Two vertices joined as shown:

m

m

Accept slight inaccuracies in drawing,
provided the intention s clear

Accept two fines if both are correct

Accept slight inaccuracies in drawing,
provided the intention s clear

Accept more than one line if all are:
correct

Accept a line perpendicular to AB,
drawn from one vertex, which mees or
crosses AB, eg

A
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13a

136

m

m

Accept unambiguous abbreviations or
recognissble misspelings.

Accept unambiguous abbreviations or
recognissble misspelings.
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Award TWO marks for the correct answer of 20 Upto 2m

1§the answer i incorrect, award ONE mark for @
‘evidence of sppropriste working, sg

Smallsquare =36 -28 =8
Large square = 28-8

wrong snewer

Working must be caried through to reach an
‘snswr for the award of ONE mark.
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DBAC

m

AcceptC A B D.
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Award TWO marks for the three letters writtenin ~ Upto 2m Do not accept letters written in more than one
the correct ragions a5 shown: @ region.
Accept stemative unsmbiguous indications, &g

== == lines drann from the shapes to the appropriste

ragions of the diagram.

Accept unambiguous shapes drawn n the.
appropriate regions of the diagram.

1fthe answer isincorrect, award ONE mark for two.
letters written in the comect regions.
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13 Square drawn as shown: m  Accept slight inaccuracies in drawing, provided

@ the intention i clear
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BANDF 1m  Letters may be given n either order

CANDDANDG 1m  Letters maybe givenin any order
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13a 5 m

13 15 Am  lfthe answeris incorrect, award the mark if the.
@ answers to 132 and 136 total 20
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162 CANDD im  Letters may be givenin either order

16b  AANDD 1m  Letters maybe givenin either order
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10

m

©)

Joins dots to make a triangle that has only one side
of 4em and only one angle of 45"

1 Lengths or angles shown on their triangle(s)

Ignore, even ifincorrect

x Dots not used
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3m

L]

m

Completes the drawing according to the following
‘conditions, with a tolerance of 3mm in each case.

the circle has a diameter of Scm
the highest point at which the circle crosses the
central vertical ine is 3em from the top of the

answer box

the lowest point at which the circle crosses the
central vertical line is 7em from the bottom of the

e
71N
(e
|/

7em

Any two of the three conditions given above are
correct

Any one of the three conditions given above is
correct

+ Flag constructed ‘upside down’

| Shading incorrect or omitted, or additional
lines drawn
Condone, provided the response is unambiguous

| Compasses not used
For pupils who meat ane or more of the.
conditions without using compasses, deduct
ONE mark
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s

AANDD AND E

m

Letters may be given in any order.
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Markers will use & transparent overlay of thes page to mark pupils’ answers to this question. A copy & enclosed.

6em

A TWO marks o  cuscrlters| downwith U to 2m  Accet crowings whereany sdehasbeen

an sngienthe onge 3 107" ndusive AND
engihofsoping e i therange &1cmt09.3cm
inchaive G uppar vere of qackistrl vt
oner b o g

b srer s corect,sward ONE ok o

8 5 compleed quadrltersl dsur it an snle
ntherange 750 71 ke

or
8 5 compleed quadrltersl dsur it an snle

nthernge T2 078 ke AND engthof

Sopig ine n th ange 90em 109 dem
k.

tendd past s vertex.

ccap desuings which o it use e g B
e e, providecthy hve used s newith .
lengihin e ange B e 2m .
Aceapt for ONE sk drswings ot uaing the
‘en B basebne i hive s s e
‘uticeth tange .8cm o 8.2cm,prvided thy.
e s anie i the range 75 10 77 e
AND 3 oping ne i th ange . Tem t09 3o
inckaie.

Accapt for ONE mak dowings of complete
uscstos,provided ey hov 4 s nthe
Faoge 731077+ ncusive AND 5 doping e
thenge ©1em 0 9.30m nchie.




image32.png
Award TWO marks for the correct snswer of 39

fthe sraer s corect,avord ONE sk for
s o poreprste wokin, 5

mxsaen2
4-9
12494949 = wong araver
or
=
0
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36+ 3= wonganer

Upto2m
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by sppropriste worki. eg
%2303
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23 Diagram completed correctly as shown: im  Acceptslight inaccuracies in drawing
(see page 3 or guidance).

]
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image35.png
Answer of 2.5 m
or

Shows understanding of a correct method even if
there are computational errors, eg

 90+3=36 (error)
12+2
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Award TWO marks for four shapes correctly Upto 2m
matched as shown:

triangle

quadriateral

hexagon

<UD
{

the answer is incorrect, award ONE mark for
atleast two shapes correctly matched.

Lines need not touch shapes or names, provided
the intention is clear

Do not credit any shape which has been matched
1o more than one name.
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10 Diagram completed correctly as shown: 1m Accept slight inaccuracies in drawing
\III @ provided the intention is clear.
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Dots joined to divide square into two congruent

parts, eg

or

/

m

®

Accept slight inaccuracies in drawing
(see page 3for guidance).

Accept more than one answer if all are correct.
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/AAND B AND D 1m  Letters may be given in any order.

AANDC 1m  Letters may be given in either order
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16 BANDCANDG Letters may be given in any order.

m
(o)




image40.png
Indicates No and gives a correct explanation that
includes indicating two different areas, eg:

 Arectangle with sides 6om by 2cm has a
perimeter of 16cm and an area of 126 but
a rectangle with sides Scm and 3om has the
same perimeter of 16cm but it has an area of
15cm? which s different so she is not correct

 Asquare with sides 3cm by Som and a.
rectangle with sides 4om by 2cm have the
same perimeter of 120m but they have.
different areas of Som? and Som?

m

5 B

Ignore any incorrect units given in an
otherwise corrct explanation, e

« 62 forGom?

Indicates Yes, or no decision made, but
explanation clearly correct

Gondone, provided the explanation is more
than minimal
Incomplete or incorrect explanation, e
“6x2,5x38

« Two rectangles, one with sides Gom by
5cm and one with sides 8m by dom have
the same perimeter of 22cm but they donit
have the same area
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14

‘Award TWO marks for all four boxes ticked or
crossed correctly as shown:

v
x
x

v

Ifthe answer is incorrect, award ONE mark for
three boxes ticked or crossed correctly.

Upto2m  Accept alterative unambiguous indications
egYorN.
For TWO marks accept:

v
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10

‘Award TWO marks for the correct answer of
BANDC

Ifthe answer s incorrect, award ONE mark for:
= Bonly

= Cony

Upto2m  Letters may be given in either order.
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question 22 copy of overlay

Markers willuse a transparent overlay of this diagram to mark children's answers to question 22. The overlay is attached to the
printed version of this mark scheme.
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Award TWO marks for a triangle drawn with an
angle in the range 53° to 57 inclusive AND length
of base line n the range 8.2cm to 8 4cm inclusive.
(e lower vertex of the triangle within the inner box
on the diagram, see overlay).

I the answer s incorrect, award ONE mark for:

m 2 completed triangle drawn with an angle in
the range 53° to 5 i

m 2 completed triangle drawn with an angle in
the range 52° to 58° inclusive AND length of
baseline 8.1cm to 8.50m inclusive.

Upto2m

Accept drawings where any side has been
‘extended past a vertex.

Accept drawings which do not use the given 6cm
line, provided they have used a line with a length
inthe range 5.9cm to 6.1cm inclusive.

Accept for ONE mark drawings not using the
given 6cm line which have used a ine outside
the range 5.9cm to 6.1cm inclusive, provided they
have an angle in the range 53° to 57° inclusive
AND a base line in the range 8.2cm to 8.dcm
inclusive.

Accept for ONE mark drawings of incomplete.

range 8.2cm to 8.4cm inclusive.
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12a  Answerin the range 65mm to 69mm inclusive. m

125 Answerin the range 123° to 127° inclusive. m
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13 Diagram completed as shown: 1m  Accept slight inaccuracies in drawing, provided

e
(@) Frtm————————
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AANDF m Answers may be given in either order

Accept altemative indications, eg
Shapes ticked o circled, provided the
intention is clear.
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9a | Answer in the range 5.5¢m to 5.9cm 1m
inclusive.

9b | Answer in the range 143 to 147" inclusive. 1m

Question 9b commentary: Some measures questions specify the unit to be used. Where the unit s given in the.
question lozenge and in the answer box, it must be used. If pupils express their answers using a different unit, e.g.
as 57mm in the first part of this question, the mark will not be awarded.





image48.png
18 | Award TWO marks for both kite AND square
ticked as shown.

v

If the answer is incorrect, award ONE
mark for:

« kite AND square and not more than one
incorrect shape ticked
OR
« one correct shape only ticked.

Upto

Accept alternative unambiguous positive
indications, e.g. shapes circled.
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11 | 32

1m





image50.png
Award TWO marks for the correct answer
of 7

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* 18+9+2widths = 34 + 1 width
27 +2 widths = 34 + 1 width
27 +1 width =34
34-27

OR
. 34-(18+9)

Upto

Answer need not be obtained for the
award of ONE mark.

Award ONE mark for a method which uses
algebraic representation correctly, e..

* B4+w=18+w49+w
B4+w=27+wiw
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1m
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14

An explanation showing an understanding:

« that this specific triangle has angles 70,
70 and 40

OR

« of the properties of an equilateral
triangle - all angles are equal (60°)

‘and therefore that this triangle cannot be
equilateral, e.q.

« The angles aren't 60°

« There is not a 60° angle

« It has two different angles (70° and 409)
soit can't be equilateral

« The angles aren’t the same

 An equilateral triangle has.
60° + 60° + 60°

Al the angles are the same in an
equilateral triangle

« It anisosceles triangle.

(Inthe context of this question, the term
isosceles triangle is treated as not including
equilateral triangles as a special type, as the
national curriculum does not specify this at
key stage 2.)

1m

Do not accept vague or incomplete
explanations, e..
« The other angle is 70°
« They aren't (all) the same.
(N reference to angles)
« An equilateral triangle has equal
angles. (Does not say all)
Do not accept explanations which
include incorrect mathematics or incorrect
information that is relevant to the
explanation, e.g.

* 40+70=110+70=180
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13

Award TWO marks for a completed triangle
that has all of the following three points:

« an angle in the range 33° to 37° inclusive
for the angle marked 35°

« an angle in the range 88° to 92° inclusive
for the right angle

« the triangle has been drawn on an
8om line (either on the given line or
aline drawn), provided they have
constructed both angles within the
tolerance of the line 7.9cm to 8.1cm.

If the answer is incorrect, award ONE mark
for a completed triangle and two of the three.
points correct.

Upto

Accept drawings where any side has been
extended past a vertex.

When considering whether the triangle is
completed, do not accept:

« aquadilateral or another
shape drawn

OR

« acurved line that is used to complete
the shape

OR
* sides not meeting to form a vertex.
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21 | Rectangle divided, as shown:

m

Accept slight inaccuracies in drawing
provided the intention is clear.
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105 cm)

1m

Accept 101
P! 2
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12a

12b

‘Triangle drawn in any orientation as
shown:

m

m

Accept slight inaccuracies in drawing,
‘provided the intention s clear
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BANDD m Both letters must be given.
Letters may be given n either order.

CANDE m Both letters must be given.
Letters may be given i either order.
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21

Award TWO marks for boxes ticked Upto
and crossed as shown: 2m

If the answer is incorrect, award ONE
mark for any three boxes correctly
completed.

Accept alternative unambiguous
indications such as ¥ or N.
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3

‘The correct shape ticked as follows:

B A 0
NS

m

Accept alternative unambiguous
indications of the correct shape, eg.

shape dircled.




